Bowman’s Strategic Clock
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The Value of Each Position

[image: ]
[image: ]
[image: ]

image7.png
View Page -

[ my.dynamic-learning.co.uk/ViewPage.aspx?ti

e8a4a0d-e57e-479-a560-6471240fc4f08&

dps0212-0213.swf&i

13af261-1804-47f5-2 ¥

L

used
suchas

uirements?
ely than

ces?

compe

ir copyright,

: competitors?
hat the

Jon it may

[ | 2 tn which
\sinesss strengths?
ter external
gic positioning,

£t and assist
suld this

siness will send
ible 0 establish

‘7 E%%&%E'&

LEARN WORE

AQA A Level Business 2 (Wolins

The Compton School (155677) " HODDER
& Coates): pages 212-213 EDUCATION
©m3

1. Low cost, low value (focus on cost leadership): The key 0 success with
strategic positioning is 10 achieve the lowest price in the industry,

1t costs are kept very low. In this way  business

a small profit margin on each product sold. This strategy
also requires very little marketing effort, which will again keep costs low.
However, the strategy does not require particular qualities and therefore

sy 10 copy. Consequently, if there is profit it is likely 10 encourage

e profit th g made. I

o reduce their costs 1o match the firm’s levels then
it has lost all of its advantage. This position is likely to be a market niche,
although du

2 Low

is b

g the recession it was a large niche in many market

The key t0 success with this strategic positioning is to

ve the lowest costs in the industry, but with prices that are close
10 the industry average. In t
profit margin on each product sold, but still achieve a
volume. This positioning strategy is likely to be
therefore volume should be high. A problem
customers perceive the quality/value of products to be lower th:
of competitors, which may then force the company 10 reduce prices and

s way a business can achieve a good
igh level of sales
h this strategy occurs if
that

rket and

212dwo3 03 Moy Bujsooy :Bujuosod 2162185 0

thus profits. Moreover, if competitors are able 10 reduce their costs to

match the firm’s levels, cost leadership will be lost
Both of these low-cost strategies are likely to appeal to price-sensitive
customers who elect not 1o buy better quality goods or who cannot afford
th does tend 10 avoid competitors, as there s very litlle
profit 10 attract them into the market. The disadvantage of these low
cost/price strategies is that the low profits mean there is litle money to
re in order to improve the business.

2 MuheideThe hubsidsteatoousoanisas-a businass o achious dillasentiotion.





image8.png
View Page -

[ my.dynamic-learning.co.uk/ViewPage.aspx?ti

e8a4a0d-e57e-479-a560-6471240fc4f08&

dps0212-0213.swf&i

13af261-1804-47f5-2 ¥

L

siness will s

ether th
he low prices
sies offers its own

scause it

101 summarises

agic clock and

wice/standard
irice) are NOT

DRt

LEARN WORE

The Compon School (155677)
AQA A Level Business 2 (Wolins

in order 10 improve the business
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3. Hybrid: The hybrid strategy requires a business to achieve different
and low prices, relative 10 its competitors. This can be a diflicult balancing
act for a business 1o achieve, as any efforts to achieve dilfere
likely 10 cost money and therefore make it more difficult to achieve low
costs and thus low prices. The main advantages of the hybrid strategy is
that it can achieve very high sales volume in a mass market, as the ideal
scenario for many customers is a combination of reasonable quality goods
at reasonable prices. In some cases this hybrid approach may be achieved
by selecting aspects of the busi at will not adversely alfect
customers’ perception of quality. The business can then focus its cost
savings on those activities wi ' popularity of its products.

ion can add value by creating

may be real, such as a different
age and branding,

4. Dilferentiation: Pursuing a policy of differen
a unique selling poin/proposition (USP). Th
design or dilferent components, or it m.
The ey to success with this strategy is 10 try 10 reduce costs
do not allect the uniqueness of a product and to identify the feature:
add value 10 a product without leading 10 sign

in the advan

ensure that it understands its customers. Th

Inorder o m

locus on market research and data collection. It must also be aware of

the key reasons for dillerentiation so that it can ensure that competitors
cannot match the qualities that i offers its customers. Given the scope
for high profits, competitors will be keen 10 enter this market and so

aly ide
well as its own strengths.

y the sire

& Coates): pages 212-213 ]
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Differe jons within larger businesses which,
by necessity, are likely 1o have 10 appeal 1o some customers who will not
wish 10 pay high prices. This may mak
10 persuade customers that it can provide
high prices on some of its product ranges.

it more difficult for a business
e quality required to justify

Focused differentis

n (focus): This strategy offers the g
scope for high profit margins, as it is possible for the market leade
dominate a niche market. I a business bases its focused differentiation
on a well-established br:

ors 10 ac

i name, it can :n more dilficult for

successul diffe

i strategy ina n
cases, products beneliting from focused differen
items. Therefore a business n
er views of what is necessary 10 gi
constantly changing.

Increased price/standard product
Increased price/low value

Low value/standard price

Collectively, these three positions are kriown as failure strat
The major disadvantage of them is that the price charged is likely

10 significantly outweigh the value that they provide the customer.
Consequently, none of them is likely to attract customers. lowever,

il there is a customer base — perhaps because the organisation is a
‘monopoly  then this disadvantage is turned into an advantage, because
the lower value is like 10 be a reflection of the low costs required 1o
provide this product. Consequently, if customers do buy any of these
products then the: ‘margin on each product
s0ld by the business
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N

ey term

Competitive advantage A
benefit [or benefits) that a

irm has in comparison o its
als, allowing it to achieve
greater sales and profits and
etain more customers than its
competitors.

Key term

Competitiveness T he ability of
businesses to sell their products
successfully in the market in
which they are based.
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broader range of strategic positioning is Bowmans strategic cloc

um...m
Mk me madk
~ aire? 9 Differentiation
Hybrid Focused
differentiation
-~ 4— Costs > tian
A Figure 10.2 Porter’s generic
strategies and firms that are ‘stuck B
in the middle’ K Low Bowman's Increased price/
z strategic
y H Toed standard product \
H \
& /
/
Low price/ Increased price/
low value low value
Low Low value/standard price
Low price High

A Figure 10.3 Bowman's strategic [or strategy) clock

Source: C. Bowman and D. Faulkner, Competitive and Corporate Strategy, Irwin, 1996
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Low value/standard price
Low

Low Price High
A Figure 10.3 Bowman's strategic [or strategy clock

Source: C. Bowman and D. Faulkner, Competitive and Corporate Strategy, Irwin, 1996

Figure 10.3 shows Bowman’s model of strategic positioning. The vertical 213

axis measures the perceived value of the product to consumers; the
horizontal axis measures the price of the good being sold \

In Bowman’s clock, there are eight choices of positioning strategy, although /
Bowman considers three of these positions to be undesirable strategic
positions. These eight positions are as [ollows:

1. Low Price/Low Value: In general, this is a strategic positioning that
businesses would wish to avoid. It represents a situation in which the
business is perceived to be selling goods of low value at low prices.
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These goods are likely to be inferior goods and so there is a risk that

as people’s incomes increase, sales will diminish. However, it is a
sustainable position if a business is able to achieve significant economies
of scale and is therefore able to offer prices that are lower than those of
its competitors. Profit will be earned through volume rather than added
value. Examples of this positioning are Poundland, Poundstretcher and
many charity shops

/| 2. Low Price: This position represents businesses that are low-cost leaders \
I\ in a market in which the products themselves are not seen to be inferior y
\ goods. The strategy of such businesses is Lo cut costs and operate at low /

profit margins. Their low prices enable them to achieve very high sales
volumes and thus it can be a sustainable market position, especially il
competitors are unable to match the economies of scale that the low-cost
leaders possess. Prolit is earned through sales volume rather than high
added value on each product. Examples of low-price positioning are Lidl,
Aldi and Asda

3. Hybrid: Hybrid positioning represents a moderate price with a moderate
level of differentiation between the business’s products and those of
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3. Hybrid: Hybrid positioning represents a moderate price with a moderate

level of differentiation between the business’s products and those of

its competitors. Customers will tend to be attracted to this hybrid

positioning il they do not aspire to the highest priced products, but wish

10 be reassured that the product is likely to be reliable and of sound

quality. Consequently, a loyal customer base can be established using

this positioning strategy. Examples ol hybrid positioning include Next,

Vauxhall and Peugeot.
/| 4. Differentiation: Differentiation means that the customers perceive they \
I\ are gaining high value [rom the product but paying a mid-level price. /
In some circumstances, differentiated positioning can enable a business
to charge a higher price and accept lower sales volume, or charge a
lower price and generate very high sales volume. However, the essence
of differentiation is that the product is considered to have high value,
usually in a mass market. Businesses will strive to achieve sustainable
differentiation, so that they can maintain the high levels of profit that
this positioning is likely to create. Some examples of dilferentiation are
those listed in Porter’s model — Nike and BMW.

5. Focused Diflerentiation: Focused differentiation tends to apply to niche
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those listed in Porter’s model — Nike and BMW.

. Focused Diflerentiation: Focused differentiation tends to apply to niche

markets in which products are perceived to be very high value and have
very high prices. In general, this positioning is achieved by brands that have
excellent reputations for quality. Even where new products are launched,
consumers tend to assume that these will be of the same perceived high
quality and are therefore prepared to pay high prices. Examples of focused
differentiation are Rolls-Royce, Porsche, Rolex and Gucci.

. Increased Price/Standard Product: This strategic position is likely to exist

only in the short term, and possibly arises [rom the business having

an exaggerated view of the perceived value of its product. It may also
exist if a business launches a new product and believes that it will be
more popular than it eventually is. Finally, it can occur if a business has
successfully achieved focused dilferentiation with a product, but persists
with that product after competitors have introduced new products that
have greater appeal to the customers in that market. This strategy yields
high profit margins, but this can be deemed risky because sales volume
is likely to be very low, and it can damage the image of the business.
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7. Increased Price/Low Value: Increased price and low value is unlikely to
be a successful combination. This position in Bowman’s strategic clock
is often described as monopoly pricing because it is a combination that
can only really exist if a business has no competition. 1f there are barriers
to entry into an industry then this strategy can be sustained, but in a
competitive market, any business using this strategy is likely to fail

8. Low Value/Standard Price: This strategy is associated with the loss
of market share. If a product has low value it is likely to be cheap to
produce, and therefore it is probable that competitors will be able to offer
this product at a low price. Any business offering a low value product at a
standard price will lose sales to businesses that are prepared to offer low
value products but who only expect low prices in return.

What do you think?

The examples given in positions 1 to 5 all feature companies rather
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